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Time: 20 Minutes Group: I OBJECTIVE (%> ,‘,,f (74 & 20 1 &y
Marks: 15 CuE |y  Code:5263 15: /%

Jde é:uli ey e JE s ZL.) &Ll Z.Jlr’/ £ Qb’dli ..u‘Ze:..: DstCeBe Atz j/(e édlr/ Oy
b J}"JU& 74 u)a u" qu'Ji_f,g < 4 L/4 :‘/u:/b 1319} :_J Z "J/a.u:t /l. fa/b

1 1- AM. between ng and 6J§ is

75 (D) 45 (©)
2- In the logarithm of a number, the integral part is called

mantissa L4 (B)

real part .ﬁ(}? (D)

3- The tax in addition to the price of the artile, is called

Excise duty J#37LE1 (D)
4- If y=3x, then for x=2 we have y=?

5y5 (B)

Sales Tax Jg}o’ (C) Income Tax Jg,)'/l (B)

& b 07U 65 245 1 1
345 (A)

4!’& Lty s é‘u‘/ﬁ’éw(f( 2
characteristic L (A)
decimal part 2 3¢ (C)

wZSFir il g
Tax Jg (A)

y=?é;_rx=2 Iny=3x]1 _4

3 (D) -3 (C) 6 (B) 0 (A)
5- Percentage form of 0.13 is & Faed S0.13 -5
10% (D) 13% (C) 30 (B) 13 (A)
6- The middle value of data arranged in numerical order is called s dw wd e $ D o’( -6
geometric mean L~ (D) mean L (C) mode »b (B) median ks (A)
7- Find profit %, if SP>CP naspedsyied Nal g -7
E‘E%?E ;;_é: (B) ol x100 fj x100 (A)
100x SP 100 x =32/l CPx Profit srad x é’
100+ Profit% 1o+ w2 O 100 - -
8- If A and B are two non empty overlapping sets then AN B = 9 FKB =7 Jus %yﬂ/"‘» Bl A -8
BUA (D) AnB (©€) ¢ (B) BnA (A)
9- On a crop produced on natural resoures, usher is f:bl g ¢ J" Fihald e Sus i e
paid at a rate of « U
20% (D) 5% (C) 10% (B) 25% (A)
10- The percentage of profit/mark up charged, is called o %’f of v/ of s g _(IJL/&? -10
rate ¢ (D) principal amount (C) interest s+ (B) time ﬁv (A)

11- Money that must be paid to the state, charged as proportion
of income and profit added to cost of some goods and
services, is called

income tax Jgﬁ (D) property tax Jg(}{!{ (C)

12- The co-ordinates of origin are

(1,0) (D) 0.1) (©)
13- a, 0of3,7,11,.....is
20 (D) 19 (C)
14- If U={1,2,3} , A={1}thenU - A=?
{2,3} (D) o (C)
15- JE is equal to
2% D) 2y2 (C)

15-(I1)-1°¢A 123-38000

C’Vufcyfu Ju,/:_-'.;n’:c. bl &JTK'};M -1
& 81}[:{_ 8[, Jbl )/c:/_ly{ bl 3ol

ax & (B)

Excise duty (23#LET (A)
Ut Ll L olpr 12

(0,0) (B) (1.1 @A)
e a, £3,7,11,... .13

23 (B) 3 (A)
U-A=?5nU={12,3} , A={1}.]1 14

{1,3} (B) {1.2} A
e sl |2 -15

2 (B) 2> A




General Mathematics Paper: 1 (fwf g qvy)! dﬁfafﬁ?) 18%A 123 I:gg u‘"y\

Time: 2:10 Hours Group -1 1’”(”-’4 & 210: e
Marks: 60 CUT.| .y SUBJECTIVE Jesi 60 : U4
Note: Section Iis compulsory. Solve any THREE (3) questions (8) (f e éfc.. 94 (».b.f.dJU Jil - ks
from Section II. éJg My
Section I Jile
2- Write short answers to any SIX questions: (2x6=12) Z FalpfL o) g -2
i- Express 2.64 as percentage. St / 264 i
i~ Express % i —;‘ in its simplest form . S xS '3' ; ‘6- il
jii~- What is meant by direct proporton? Sl e ol o il
iv- Find ratio between 36 rupees per dozen to 6 rupees each. _é r,‘-”:.‘g)uyj; L & 6 5 2l o0 d &2 36 .iv
v- What is meant by inheritance? Se Ve (SN v
vi- Calculate Ushr on wheat crop amounting { 4-23,50,000 CC.JI. J" J rxf oA Iig (‘fb} g i
Rs. 3,50,000, produced by arificial resoures. G
vii- What is meant by profit? Sy e & i
viii- Find the CP, when SP=Rs. 851 and Loss=8%. T =8% ol ) od =851 L s f E Py Fed i
ix- Find the SP, when MP = Rs. 2760 and Discount = 5%  &of=6% sl =fsbln=27604 1 £ 2 P adsjad  _ix
3- Write short answers to any SIX questions: (2x6=12) 2 Fen L ot (8) g 3
i- Define current account. Ay NN IO
ii- What sum would have to borrow in Rs. 174 ! oI a2 Z,/"J 5% 2 L wu JJI/ Jg/ ~ii
as mark up at 5% in 4-years. s ntd /h:l.f: J(/J”..g» Iness174
ii- Define property tax. E A b i
iv- Define pay order. ' -’q{ ._gj)'of ,5,7*_ v
v- Simplity /118 +32 Yus+2 £F
vi- Solve (39 +(9*x277Y Y +@*x277) £ i
vii- Simplify a2/3b3/4>< a|/3 b3/4 ‘ é( /1.}, ’( az/s ba/a>< al/s b3/4 i
viii- Write down the value of log52.13 & ol ed  log52.13  -viii
ix- Define bank draft. Ay TS ek -ix
4- Write short answers to any SiX questions: (2x6=12) -é ()’uU!/ﬂJ:uUb’(G) g'a.df -4
i- Define set. -Zf J]’ J N g
ii- Define binary relation. -2;5 i i 1Y de i
ii- Find ANB if A& b ANB i
A={1,2,3,4,6,12},B={1,2,3,4,6,9,18} A={1,2,3,4,6,12} ,B={1,2,3,4,6,8,18}
iv- Find Bx A ifA={2,3,4}, B={1,3} A={2,3,4}, B={1,3) fiZ5p#* BxA -V
v- Represent point A(2,-4) on graph. Z 4 S AQ,-4) W v
vi- Define Histogram. ' 4 _y/‘“‘«f:f" J ¥ i
vii- Define moving average. -i Y bl S il
viii- Find mean of data 184,191,172,168,187,189,196,186,193,195 sl  _viii
184,191,172,168,187,189,196,186,193,195 “EE e ¢
ix- Find range of data‘6,8,13,11 ,18,27,23 / -2‘;‘.:(#‘;;}"! 6,8,13,11,18,27,23 »l» _.ix_

(I )




(2)
'(U!/." a2 50 A8 LUy 5 Section Il (5 o
NOTE: Solve any THREE (3) questions. Crety =155 Loy 3) e ws

5- (a) A factory makes 600 suits in 9 days with the help of L. 2y 600 U= Uh9y US 20 d/:Q' L) -8
20 machines. How many suits can be made in sL Uil Ly z“fu: UH 12 = 14 Jui?‘ 18 «ff
12 days with the help of 18 machines?
(b) The inherited property amounting to Rs. 20,00,000 is C{.’t ‘fl Ut e 38 & 9y il oxs L Bl u":ﬁfl ()
left by a deceased. He left behind a widow and two _’cf:(,'}”:,;’t Sl Lpe 41, 20,00,000 =21
sons. workout the share of each.
6- (a) Distribute Rs. 33,000 as a profit in a business regarding £ é,‘:ﬁuﬁ’ SEI uf)/gi.u 33,000 kL () -6
three persons, if their shares are in the ratio 3:5:3. -x3:5:3 _wr"uf.' u,w'DL !

(b) Alilent to Abid Rs. 4,800 for 7 months. At the end of £ (¥1L s 1 &s & Lol 7_2,4,800/4k & f ()

this period, Abid had to pay Ali profit of Rs. 119. o BT AU Bt Clog 1118 S L 4l
Calculate the rate of simple profit per annum. -é r""‘
7- (a) The price of cycle is Rs. 4000. If 16 percent 048 16% ¢ Sl fie s 4000d LT (L) -7
sale tax is charged, then calculate the amount of -5,’:"” u’g}fg U 30 17 bV u’g/lfc_
sales tax on 30 such cycles.
(b) Use logarithm to evaluate 69.13x0.34x0.014 69.13x0.34x0.014 Z:J’c_ 2k J(;fb’) (<)
8- (a) Insert three geometric means between 486 and 6. -’c,‘fr}”‘ b d/uf U L 67 °486° (L) -8
(b) 1fU={1,2,3,4,5,6,7,8,9)}, A={2,3,6,9} and #U={1,2,3,4,56,7,89),A={2,3,6,9 S ()
B={1,3,6,7,8} then verify (AU B)" = A~ BS (AUB)® = A°~ BS 2 =ik 75 B={1,3,6,7,8)
9- (a) Drawthe graph y =x+7 y=x+7 é{_ﬂ/ (W -9
(b) Find Mean and Median 3,5,6,8,8,9,10 3,5,6,8,8,9,10 & (* s sl bl ()
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1- The score which occurs often in a set of data, is called

GM. L~ (D) Mode sk (C)
2- The co-ordinates of origin are
(1.0) (D) 0.1 (©)
3-Ifx=1and 2x+y =6 then y=?
8 (D) -8 (C)
4- (AUB)®
A°nBC (D) A°UBC (©)
5- G.M. between -3 and -12 is
+9 (b) +6 (C)
6- a5 of2,6,18is
30 (D) 161 (C)

7- In the logarithm of a number, the integral part is called
L (B)

mantissa
real part ,»J? (D)

8- The form of tax which the buyer pays on a manufactured item

at the time of purchase, is called
sales tax Jg}f (D)  excise duty (};j:"f’L{ I (C)
9-In a", nis called

exponent Vs (D) base Ul (C)

10- The person or entity whose insurance is being done, is called the

Lessee (¥ (D) Drawer .3 (C)
11- The return earned by the bank on loan, is named as
Profit &t (D) _ Bonus ¥ (C)
12- Profit is earned when
SP=MP =3)jed =odiits (B)
SP>CP  =djed>yind (D)
13- Zakat on an amount of Rs 1,00,000 is
Rs 15,000 (D)
14-Inaratioa: b, "b"is called
antecedent ww it (C)

Rs 2,500 (C)

mean (s (D)
15- 7, 20 In terms of percentage is

20% (D) 20 (C)

5

16-(IV)-15tA 123-39000

q_d!lz'(‘z..f.;/uy
Median - (B) Mean Lot (A)

Ll & slur 2

0,00 B) (1,1) A
y = ?:’n2\+ ,x=1/7_3

-4 (B) 4 (A)
(AUB)® =17 -4

¢ B (AnB)*

b3 Uen L 12 st -3 -5

+3 (B) +36 (A)
¢edd as £2,6,18 -6

162 (B) 160 (A)
G ol bt L s T

characteristics ~b (A)

decimal part Uy, /1551 (C)
Lfgi.' Ly FaleF Ly 2 LSfL;JQ’ ¢ -8
2 gt
tax & @)
g ngt a9
radicand . (B) radical & (A)
G E et le SUHE LA 10
insured 3. (B) insurer & (A)
S e t TS Ry 2 P 11
Premium (<, (B) Markup IS4 (A)
Setey bl 12
SP=CP wsjed=yind (A)
SP<CP w3 jed<yind (€)
e 0§ 5854 2-41,00,000 -13
Rs 2,000 (B) Rs 25,000 (A)
S bt et a:b -14
consequent <i/5¥ (B)  extremes der A
FELELL Y -

35% (A)

income tax Jgﬁ (B)

35 (B)
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Note; Section I is compulsory. Solve any THREE (8) questions (3)‘-}? P Jf =y - (3 0~ SN e 2 d
from Section IL CLJ->33 Z Sy

Section I Jil-o

2- Write short answers to any SIX questions: (2x6=12) = faur L oy (6) {:_.Jf -2

i Express percentage as decimal, give your answer st s 0 g F 8 B SR N Sur
correct to 3 decimal places 48 'z‘ % 48 ’} %

2 P e s i

ii- Define antecedent and consequent.

iii- What is meant by Ushr? e slp e P i

iv- Define discount. ZEfled v

v- Calculate Zakat on silver amounting to Rs 3,00,000. & 5454 U1 I 492 3,00,000 =L Susp i v

vi- Najeeb left a wealth amounting to Rs 4,00,000. c;.’.? & it I R B0 &1 &30 4,00,000 P uj Vi
He left behind a widow, while they did not have o Kup § o B2 4 G Uy £ £ S 0z
gk

any child. Find the share of Najeeb's widow.

1 1 g . g
vi- Find CP, when SP = Rs 100 and Profit = 33-2—% - 33-2-% 2O 100=esped £ & Pt i

viii- Find marked price when, SP=Rs 858 and & 888 = asspuf o e d s i

Discount=12% 12% = 24
ix- Tﬁe selling price of 12 articles is equal to the cost e ds £ sred SaP 15 e8P S 12 ix
price of 15 articles. Find profit percentage. 2k r)"'ﬂ[} 8‘
3. Write short answers to any SIX questions: (2x6=12) 2 fal2 Lo (6) 4:..8:( -3
i- What is meant by current account? ool Ve 25K S i

i If simple profit on Rs. 640 for 12 years is Rs 384. Find the 77 4 384 Dt osbe & £ Ji- 12 ¢ 424840 S i

rate of profit. -z r)",wé vASee
iii- What is meant by Property Tax? el u'g 3{'4 il
iv- If the annual value of flat is Rs 6,00,000, then find the § 15% 3 &~/ 6,00,000 YTt e o8 ..ﬁfl ~iv
tax payable at a rate of 15 %. 4 (}*’Jg W6 U
v- Write down a few indirect taxes. L 4F u’g»b’ly £V
1 1
vi- Simplity v2 +(32)° J2+32)° &4 i
3. o5 o6 3_u5. 46
vii- Simplify f-ix—x—;—)-(— | -’-‘-;-(1—;5— &4~ i
X"xX 'xX X"™xX xX
viii- 4.5x10° centimeters into meters and write the solution 2 2 S LS 45x10°  _viii
G LF

Convert in decimal form.

log(x-2)=1 &£ J -ix

ix- Solve  log(x—-2) =1
2 Feyn Lot (@) geif -4

4- Write short answers to any SIX questions: (2x6=12)
i~ What is meant by sequence? S tor (Ll Kolel i
. n+l 3
i-ifa, = then find a, and a, : -25(:“’-%3(; a, sl a8, In 8, =2n+5ﬁ =b

2n+5
iii- Find the Tthterm of GP 2,8,32,....

(Z40) C;

by 2,832, ds i



.2-

GuTn-23

iv- If A={1,4,7,8},B={4,6,8,9} and C={3,4,5,7),
then find (AU B)UC
v- Define ordered pairs.
vi- What is mgant by cartesian plane?
vii- Represent the point F(~3,7) on the graph paper.
viii- Define frequency.

ix- Find the range of data 10,18,9,6,22

C={3,4,5,7} »/B={4,6,8,9},A={1,4,7,8).]1 _iv
& (AUB)UC Jx

Sl v

?‘L;l/y’c,d:"f"d";( Vi

G s S 37 B

REA O

_gE b §10,18,9,6,22507  ix

~vii

~Viii

(‘,g/ 4 Lz y ¥ / 8 Ldly %) Section II (» -

Note: Solve any THREE (3) questions.

5-

(a) 14 cows consume 63kg of hay in 18 days. How many

cows will eat 770 kg of hay in 28 days at same rate?

(b) Asghar left a property of worth Rs 4,80,000. He left
behind a widow, three sons and four daughters.

Calculate the share of each one.

(a) Distribute Rs 720 as profit amongst three people,

so that their shares are in the ratio 3:4:5

(b) Find compound profit on Rs 600 for 4 years at

6 percent per annum.

(@) The price of a bicycle is Rs 3500. If 16 % sales tax
is changed, then calculate the amount of sales tax

on 50 such bicycles.
25.36 x 2.4569

b | ith help of | ith
(b) Solve with the help of logarithm 9475

|
(@) Find the 30th term of G.P. X,1, —,....
X

(b) IfA={1,2,3,4,5,6},B={2,3,4,6} and

C={2,3,4,7,8,9} , verify (AnB)NC = AN (BN C)
(@) Drawthe graph y=3x+35
(b) Forthe given data, find Mean and Median

4,6,7,4,8,9,7,10

16-1°*A 123-39000

Sy @) fe dS s

Ut o 28 2t QW UE o 18 L (¥ 63 2814 (L) 5
WS LV F L S 770
LUt _$E S 40 4,80,000518 K L pot (L)
SN I U s e oF o L &
ool L A
LINEF LS w200 1 (L 6
3415 20U U
e 0 6% LU a4 600 (L)
e Be
16% 0 S UE K M e £ss 3500 2 § Sy o Ly 7
-a{(kﬂf@f{ =l JU)K/;L 50 &I I x

2536 x2.4569
847.5

“ 1
EE b 30 A3 XL~ () 8
X

gJa)AJ(E;@ ()

C={2,3,4,7,8,9),/B={2,3,4,6},A={1,2,3,4,5,6./1 ()

(ANB)NC =ANBNC) S& =ik in
y=3x+5 255 () .9
lér}":}(b/: s bost € slr &£ P (_,)
4,6,7,4,8,9,7,10




